I & = Al Al BHO® Bfr HE 1
T EEIT FEAAE Al KCA m3 1660 1657.6m3
®mtT BREREEL BAT1 m3 20 20.6m3
BRARE L BA2 m3 30 27.8m3
%L T FE kR 1R KEA m3 260 257.9m3
HWIER KSA m3 150 146.1m3
bE Jn (1} m3 1720 1722.2m3
EEERT U LiEmER m2 110 107.2m2
B EmEER m2 30 31.0m2
BEMAMETRAI7ILE
MET HETHE =E top13 t=3cm m2 75 75.4m2
BEIIYONY—TY
PR A RC-30 t=10cm m2 79 79.4m2
BAEBHWNETAT7ILE
EESEEAN (RB top13 t=5cm m2 2 2.2m2
RERERR
L ERRAE M-30 t=10cm m2 2 2.2m2
BEIIYIOY—F
TRERiE RC-30 t=10cm m2 2 2.2m2
BEBRNETRAI7ILE
EEREGHE (RB top13 t=5cm m2 34 34.2m2
HERERR
L ERRAE M-30 t=10cm m2 34 34.2m2
BEIIYONY—TY
TEgHE RC-30 t=10cm m2 34 34.2m2
BAEBHWNETAT7ILE
EY eI aHat EdE] top13 t=5cm m2 51 50.7m2
BEIIYOY—TY
i3 RC-30 t=10cm m2 51 50.7m2
avy)—k 028= 73.25m3
aVo—rEE (KRB 21IN/mm2LlE  t=15cm m2 488 488.3m2
[ £ & 42 t=15cm m2 5 4.78m2
RIESHE ®6-150 x 150 m2 488 488.3m2
BEIIYONY—TY
®aE RC-40 t=15cm m2 491 491.0m2
B th#f
Bi#h T h=100 m2 1 1.4m2
B th#f
h=150 m2 20 20.2m2
B th#f
h=210 m2 1 0.5m2
B th#f
h=270 m2 1 0.3m2




I & # oAl oA % BAfL H 2 B =
KT HAKkEEYT BitE D300 m 5 5.0m
AN F TSy TS —~  |D300 e 2
Ea—L%D450 4 OFAE (D450 AT 1
LEBERE ARy IR
X DR=R7 il #rTavy)—r@D HAr 4 BEE% KB K %
LB E
R ZH I AN—MEGE (B Tar v —+2 HAT 1 NP
BEEZ KB K&
BE SR K BR i & T TaAVI)—RO HAr 1 IIFS
Ry I RAILIN—F B800-H700 m 2 2.4m
pr - RaY)—LT = 1
IOy L = 1
BEJOysiET 2N 1
WERET 1SRt T 2N 1
25 AR thiERE T e 1
MBI T JIVRT H1800 HE#H AR EEER AV m 39 39.1m
JrRT H1800 Emt4E ARLER R Ay m 78 78.0m
ABI=EPE H1800-W1000 BREMAVE ERS BT 1
TR =FIE H1800-W3000 BEESAYY B BT 1
REER T & 1
ME(FXa>o)—
BT 1 1 B(ZEE
2IKIZ AT 1
18245)—>T 600 X 600-600 HFT 1 AT
28RX9)—> T 600 X 600-600 HAT 1 5E
#IRT L% BhIERIE IR H1100 m 13 L=13.3m
2= 350
BREIEHEEIRT H=1500~ 3000 =€ 1
T AIT7 LS
BEMEET S %E R U B 4B t=3cm m 5 L=5.3m
FAI7IL G
SR R $E t=3cm m2 35 A=34.9m2
T AIT7ILEhE
SHEERRAER HE t=5cm m2 58 A=58.0m2




I i iE 3l M R BO® B = w OE
a1 — R t=100 m 1 L=0.5m
avHo ) —rEEYEE 2N 1

wHE—LBFIA

H—FL—IL (BB #E [H=800 (ZAE1A) m 2 L=1.8m
B 3% [ L 2= H=1100 m 13 L=13.3m
BITHE - 838 H 1

TV A (BE) HE H=900 m 3 L=2.5m

t=350

AEIELEE t=100 m2 14.0 L=12.0m
fE R = 600 X 600 t=6mm ® 1 31.01kg
BB TFAIT7ILEER m3 40 9.3t
BB O —RER m3 0.61 1.4t
e Ao —rag m3 1.00 2.5t




